
ϭ

0ø//Ì�(öø7ø0�%$.$1/,ö,�3(5621(/ø1ø1�*g5(9'(�<h.6(/0(��819$1�
'(öøùø./øöø�9(�<(5�'(öøù7ø50(�<g1(70(/øöø�.$36$0,1'$�<$3,/$&$.

6g=/h�6,1$9�'8<85868�9(�8<*8/$0$�7$.9ø0ø

%DNDQOÕN� 0DNDPÕQÕQ ����������� WDULKOL YH� ��������� VD\ÕOÕ� 0DNDP� 2QD\Õ� LOH� 0LOOv� (÷LWLP�
%DNDQOÕ÷Õ� 3HUVRQHOLQLQ� *|UHYGH� <�NVHOPH�� 8QYDQ� 'H÷LúLNOL÷L� 9H� <HU� 'H÷LúWLUPH� 6XUHWL\OH�
$WDQPDVÕ� +DNNÕQGD� <|QHWPHOLN NDSVDPÕQGD� ���� 0DUW� ����� WDULKLQGH H�6ÕQDY� RODUDN�
JHUoHNOHúWLULOHQ XQYDQ GH÷LúLNOL÷L� \D]ÕOÕ� VÕQDY� VRQXFXQD� J|UH� V|]O�� VÕQDYD NDWÕOPD\D� KDN� ND]DQDQ�
DGD\ODUÕQ�V|]O��VÕQDYODUÕ����7HPPX]������LOH����7HPPX]������WDULKOHUL�DUDVÕQGD�\DSÕODFDNWÕU�

øOJL�0DNDP�2QD\Õ� JHUH÷LQFH� ���7HPPX]������ LOH� ���7HPPX]������ WDULKOHUL� DUDVÕQGD� \DSÕODFDN�
V|]O��VÕQDYODUÕ�

�� $QNDUD� LOLQGH� LNDPHW� HGHQ� DGD\ODUÕQ��$QNDUD� LO�PHUNH]LQGH� ROXúWXUXODQ� NRPLV\RQODUGD� ³<�]�
\�]H´ RODFDN�úHNLOGH�V|]O��VÕQDYD�DOÕQPDVÕ�

�� $QNDUD� LOL� GÕúÕQGD� LNDPHW� HGHQ� DGD\ODUÕQ�� LNDPHW� HWWLNOHUL� LO� PHUNH]LQGH� EHOLUOHQHQ� VÕQDY�
PHUNH]LQGHQ�$QNDUD�LOLQGH�ROXúWXUXODQ�NRPLV\RQODUD�³dHYULP�LoL´ RODFDN�úHNLOGH�V|]O��VÕQDYD�
DOÕQPDVÕ�

�� 6|]O�� VÕQDYODUÕQ�� ��� 7HPPX]� ����� 6DOÕ� LOH ��� 7HPPX]� ���� &XPDUWHVL WDULKOHUL� DUDVÕQGD�
VDEDK�YH�|÷OHGHQ�VRQUD�ROPDN��]HUH�LNL�RWXUXP�KDOLQGH����LO�PHUNH]LQGH��KHU�LOLQ�EHOLUOHQHQ�ELU�
PHUNH]�LOoHVLQGH��\DSÕOPDVÕ�

�� $\QÕ�DOW�JUXSWDQ�EUDQúWDQ�VÕQDYD�JLUHFHN�DGD\ODUÕQ�D\QÕ�J�Q�V|]O��VÕQDYD�NDWÕOPDVÕ�
�� 6|]O�� VÕQDYD� NDWÕODFDN� DGD\ODUD� DLW� GH÷HUOHQGLUPH� YH� SXDQODPD� LúOHPOHULQLQ� $QNDUD� LOLQGH�

ROXúWXUXODQ�NRPLV\RQODU�WDUDIÕQGDQ�\DSÕOPDVÕ�
�� +HU� VÕQDY� NRPLV\RQX� LoLQ� J�QO�N� �� DGD\Õ� JHoPH\HFHN� úHNLOGH� NRPLV\RQ� VD\ÕODUÕQÕQ�

EHOLUOHQPHVL�
�� 6|]O��VÕQDYD�NDWÕODFDN�DGD\ODUGDQ�VÕQDY��FUHWL�DOÕQPDPDVÕ�
�� .RURQDYLUXV�DoÕVÕQGDQ�ULVNOL��SR]LWLI�YH\D�WHPDVOÕ��DGD\ODU�LOH�P�FELU�VHEHSOHU�QHGHQL\OH�VÕQDYD�

NDWÕODPD\DQ� DGD\ODUÕQ� V|]O�� VÕQDYODUÕQÕQ� ��� $÷XVWRV� ���� &XPDUWHVL WDULKLQGH� \XNDUÕGD�
EHOLUWLOGL÷L�úHNLOGH�\DSÕOPDVÕ�

�� $GD\ÕQ�� NLPOLN� ELOJLOHUL�� UHVPL�� VÕQDYD� NDWÕODFD÷Õ� DOWJUXS�EUDQú�� VÕQDY� PHUNH]L� �LO� PHUNH]L���
VÕQDY�WDULKL��RWXUXP�VDDWL�YE��ELOJLOHULQ�\HU�DODFD÷Õ�RQD\VÕ]�VÕQDY�JLULú�EHOJHOHULQLQ���7HPPX]�
�����&XPD�J�Q��VDDW������¶GHQ�VRQUD 0(%%ø6�6LVWHPLQGHQ�\D\ÕPODQPDVÕ�

��� $\QÕ�DOW�JUXSWDQ�EUDQúWDQ�VÕQDYD�JLUHFHN�DGD\ODU� D\QÕ�J�Q� LoLQGH�V|]O��VÕQDYD�NDWÕODFD÷ÕQGDQ�
DGD\ODU�WDUDIÕQGDQ�\DSÕODFDN�VÕQDY�J�Q�YH�VDDW�GH÷LúLNOL÷L�WDOHSOHULQLQ�NDEXO�HGLOPHPHVL�

��� 0�FELU� VHEHSOHU� QHGHQL\OH� VÕQDY� JLULú� EHOJHVLQGH� EHOLUWLOHQ� VÕQDY�PHUNH]LQGH� �LO�PHUNH]LQGH��
VÕQDYD�NDWÕOPD\DFDN�DGD\ODUÕQ����7HPPX]������dDUúDPED J�Q��PHVDL�ELWLPLQH�NDGDU�gOoPH�
'H÷HUOHQGLUPH�YH�6ÕQDY�+L]PHWOHUL�*HQHO�0�G�UO�÷�QH�P�UDFDDW�HWPHOHUL�KDOLQGH�VÕQDY�J�Q��
GH÷LúWLULOPHGHQ� WDOHS� HWWLNOHUL� LO� PHUNH]LQGH� VÕQDYD� DOÕQPDVÕ�� ��� 7HPPX]� �����dDUúDPED�
J�Q��VDDW������¶GHQ VRQUD�\DSÕODQ P�UDFDDWODUÕQ�NDEXO�HGLOPHPHVL��

��� 6|]O�� VÕQDYODUÕQ gOoPH� 'H÷HUOHQGLUPH� YH� 6ÕQDY� +L]PHWOHUL� *HQHO� 0�G�UO�÷�Q�Q�
NRRUGLQHVLQGH�\�U�W�OPHVL�

��� 6|]O�� VÕQDY� VRQXFXQD� J|UH� WHUFLK�� \HUOHúWLUPH� YH� DWDPD� LúOHPOHULQLQ� 3HUVRQHO� *HQHO�
0�G�UO�÷�QFH�\�U�W�OPHVL� X\JXQ�J|U�OP�úW�U�



Ϯ

øOJL�0DNDP�2QD\Õ�JHUH÷LQFH����7HPPX]������LOH����7HPPX]����� WDULKOHUL�DUDVÕQGD�\DSÕODFDN�
V|]O��VÕQDYODUÕQ oDOÕúPD�WDNYLPL�DúD÷ÕGDGÕU�

6ÕQDY�8\JXODPD�7DNYLPL

6ÕUD�
1R

7DULK øúOHP

� ��������� 6ÕQDY�*LULú�<HUOHULQLQ�0(%%ø6¶GHQ�<D\ÕPODQPDVÕ�

� ���������� 6ÕQDY�øO�'H÷LúLNOL÷L�7DOHEL�6RQ�0�UDFDDW�WDULKL�

� ����������
.RURQDYLUXV�YH\D�0�FELU�VHEHS�QHGHQL\OH�VÕQDYD�JLUHPH\HFHNOHULQ�VÕQDYODUÕQÕQ�
\DSÕOPDVÕ�

� ���������� 6|]O��6ÕQDY�6RQXoODUÕQÕQ�øODQ�(GLOPHVL�

6ÕUD�
1R

6ÕQDY�
7DULKL

%UDQúÕ

� ���������� %,/*,6$<$5�7(.1,6<(1,��/,6(�9(�'(1*,�

� ���������� 352*5$0&,

� ���������� 02%,/<$�9(�'(.25$6<21�7(.1,6<(1,��/,6(�9(�'(1*,�

� ���������� %,/*,6$<$5�0h+(1',6/,ö,��/,6$16�

� ���������� (/(.75,.�(/(.7521,.�0h+(1',6/,ö,��/,6$16�

� ���������� $98.$7

� ���������� %,/*,6$<$5�7(.1,.(5,��g1�/,6$16�

� ���������� (/(.75,.� (/(.7521,.�7(.1,.(5,��g1�/,6$16�

� ���������� (/(.75,.�(/(.7521,.�7(.1,6<(1,��/,6(�9(�'(1*,�

�� ���������� 0$.,1(�0h+(1',6/,ö,��/,6$16�

�� ���������� 02725�7(.1,6<(1,��/,6(�9( '(1*,�

�� ���������� 6,++,�7(6,6$7� ø./,0/(1',50(�7(.1,6<(1,��/,6(�9(�'(1*,�

�� ���������� +$5,7$�0h+(1',6/,ö,��/,6$16�

�� ���������� ø1ù$$7�<$3,�7(.1,6<(1, �/,6(�9(�'(1*,�



ϯ

6ÕUD�
1R

6ÕQDY�
7DULKL

%UDQúÕ

�� ���������� ø67$7,67,.d,

�� ���������� %$6,0�9(�<$<,1�7(.12/2-,/(5,�7(.1,.(5,��g1�/,6$16�

�� ���������� 0,0$5

�� ���������� ø1ù$$7�0h+(1',6/,ö,��/,6$16�

�� ���������� ø1ù$$7�7(.1,.(5,��g1�/,6$16�

�� ���������� 0(7$/�øù/(5,�7(.1,6<(1,��/,6(�9(�'(1*,�

�� ���������� *5$),.(5

�� ���������� +$5,7$�7(.1,.(5,��g1�/,6$16�

�� ���������� 0$.,1(�7(.1,.(5,��g1�/,6$16�


